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TOpiC «=LIMITS AND DERIVATIVES

1. llm(/x+ x + /X \f)lsequalto

X—00
a) %2 b)0 1
2. The value of lim (x + 6)x+4, is
x—00 X+ 1
a)e b) e? ) et

3. Letaand B be the roots of a x? +b x 4+ ¢ = 0, then lim

1 — cos(a x?+ bx +c)

x—a (x— a)®

1 a?
a)0 b)5(a — B)* ) Z(a—p)?
4. lim (1 — ax)Y*is equal to
x—0
a)e @ b)e c)e®

5. Iflim % = ﬁ, then the value of a is
n—oo

a)o b)-1 a1

6. The value of lim Y2t LEV"
nooAn® +n— \/7

a)o b)1 c) —1

7. Th 1 fli
e value o xl_r)r21( \f

a) 1042 b) +oo ) —oo
8. im% is equal to

a)o b)1 c) oo

xsm x#0

% Hf)=1",

a)l b)0 c)-1

, then lim f(x) is equal to
x—0

10. lim 2%~ % jsequal to
x—alog(e* —e%)
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MATHS

d) None of these

d)e®

is equal to

d) —%(a— p)?

d)1

d)2

d) None of these

d) Does not exist

d) —oo

d) None of these
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a)o b)1 da
11. The value of lim (x_ 1)x, is
x—00 X+ 1
a)0 b)e™? c)e™?
12. lim w] is equal to
x—0 x
a) 2log3 b) — (log3)? c) —2log3
x4 —x_ \1/x?
13. lim (#) s equal to
x—0 x
a) e!/? b)el/* c)el/’
14. The value of lim (E — tan™! x)l/x is
X—00
a)o b)1 c)-1
3 ) 1—cos(x—1)
15. The value of lim {w} SR T
x—1 x“+2x+ 3
a)e b)el/? 01
16. lim %exists, then a is equal to
x—»—3 X X =
a)10 b) 15 c)-15
17. lim (1 — %)33(_1 is equal to
X—00
a) el? b)e 12 c) et
. 1 2 3 n ).
18. ,llg?o{1—n2 + — + 0 + ..+ 1_n2} is equal to
a)o b) —1/2 c)1/2
19 limxtaan — 2xtanx is
T x50 (11— cos2x)?
a)2 b) —2 c)1/2
20. lim % is equal to
n—oo . .
3 4 20
a) 5 b) -7 C) -
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d) Does not exist

d)e™3

d) (log 3)2

d) 31/12

d)e

d) None of these

d)-10

d) e’

d)1

d) —1/2

d)0
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